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1 |[Fy>yE— 54 200 400
2 |[RyFE=—Xvyranys 12K &% 1,500 3,000
3 |LAhTERALL—X (856Y) TAR el 1,000 2,000
4 |\LhT&ALL—X 10N ! 1,000 2,000
5 |FaFTEr >Ry AV 500 1,000
6 |777—7 (HEAHLTH) 1l 200 400
7oAy RNRT Y= i 1,000/set (5) |  2,000/set (5)
s koot 32 A B 2%&200 B 2K&400
9 | RvF¥ AV 1,500 3,000
10 |74 RT Y &— AV 1,000 2,000
11 |78 =T v &— AV 1,000 2,000
2| 7—=TT4RT v~ AV 1,000 2,000
13 K Ah T X FEEEY) iz 500 1,000
14 B EERRIE R E 2 & 500 1,000
15 |RR=YTF v HhiR—I 1l 200 400
16 |FOUo@ERNL —FR—IL (& 200 400
17 | HhZ7/X—T 4 AV 500 1,000
18 [Sm &Ry — 1@ 200 400
19 |[RT7YUYTFryF () 1l

1,000/set (&5%) |2,000/set (&5%)
20 |IRFUVTF vy TF (8) 18]
21 |[SniE—% @FE-vry) K & 200 400
22 |3wlE—2% (HE-Ev7) ) & 200 400
23 |h—L v b v b 2,000 4,000
24 |7V =2 & A LEg&|T v b 1,000 2,000




